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Semester : 4th
Subject Code : CAI-401
BASIC ELECTRICAL CIRCUIT:
Full Marks —70
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Instructions : :
1. All questions of PART-A are compulsory.
2. Answer any five questions from PART-B.

PART - A
Marks — 25

1. Choose the correct answer : 1x15=15

(i) If there are three (3) Resistors 20Q, 20Q and
10Q in series and 5V is the input voltage
to this series combination and “i” is total
current then voltage across 10Q is

(@ 1V (b) 2V

() 3V (d) 5V
[Turn over
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12. Write short notes on any three of the following :
3x3=9

(i) Power factor
(ii) Resonance
(iii) Ohm’s Law

(iv) Form factor.
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